
Subject: Re: Couple File
Posted by bsayer on Fri, 12 Jul 2013 21:31:37 GMT
View Forum Message <> Reply to Message

A strictly correct statistical answer is the household weight, as it does not have the non-response
adjustments that the male and female weights have. These adjustments may account for differing
non-response of each partner and may be sub-optimal.

However, the male weight is usually fine.

Page 1 of 1 ---- Generated from The DHS Program User Forum

https://userforum.dhsprogram.com/index.php?t=usrinfo&id=165
https://userforum.dhsprogram.com/index.php?t=rview&th=78&goto=620#msg_620
https://userforum.dhsprogram.com/index.php?t=post&reply_to=620
https://userforum.dhsprogram.com/index.php

